MECH 435/ Quiz 2/ Test ID: 3021 / Name/ID:

1 Recognize TF from bode diagram

The bode diagram of a linear system is given below

a)

b)

c)

d)

Bode Diagram
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The transfer function which has this frequency response is:
14
2
G(s) = 10(s* 4+ 0.24s + 1) " \
s(s2 + 1.25 + 10) \
10
10(s? +1.25 + 1)
G =
(%) = S67 F 2.45 1 10) 3 8
a(s) 10(s2 + 0.4s + 1) i
S) =
s(s? + 0.8s + 10) 4
(s2 4+ 0.8s + 10) 2
G(s) =
() = 1057 + 045 + 1) N
0 02 04 06 08

None of the above
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2 Relative stability

Given is the below bode diagram.
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frequency response of 15(10s + 1)/[s(0.01s + 1)(s2 +4s + 100)]
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Figure 1: Bode diagram of frequency response

Determine phase margin ~ and gain margin K.

a)
b)
c)
d)

v=15° K, =9dB
v=-15° K, =-9dB
v=2222d K, =153%d

v=15324 K, =222%2d

sec’ sec
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